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31. Cysteine, cystine and methionine are:

A.Essential amino acids B. Non-protein amino acids

C. Acidide amino acids D. Sulfur containing amino acids
32. Rotation of plain polarized light is caused by solution of all the following except:
A.Alanine B. Glycine

C. Leucine D. Serine

33. Isoelectric pH is the pH at which:

A.Protein molecules is denaturated

B.Protein molecules carries no net charges.

C. Protein molecules is most solubles

D. The disulfide bonds in protein molecules are disrupted

34. In proteins the o-helix and B-pleated sheet are examples of

A.Primary structure B. Secondary structure

C. Tertiary structure D. Quaternary structure

35. Denaturation of proteins results in

A.Disruption of primary structure B. Breakdown of peptide bonds
C. Destruction of hydrogen bonds D. Reversible changes in the molecule
36. Facilitated diffusion:

A.Requires a transmembrane protein

B.Requires ATP

C. Can move molecules against a concentration gradient

D. Is typically used to transport small nonpolar molecules

37. Enzymes, catalyzing the synthetic reactions with ATP utilization, are included into
the class of:

A.Oxidoreductases B. Transferases

C. Lyases D. Ligases

38. When [s] is equal to Km, which of the following conditions exist?

A.Half the enzyme molecules are bound to substrate

B.The velocity of the reaction is equal to Vmax

C.The velocity of the reaction is independent of substrate concentration

D.Enzyme is completely saturated with substrate

39. A competitive inhibitor of an enzyme has which of the following properties?
At is frequently a feedback inhibitor

B.It becomes covalently attached to an enzyme

C.It decreases the Vmax

D.It interferes with substrate binding to the enzyme
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0. What is the vector of epidemic typhus? i
.. Cimex lectularis B. Demodex folliculorum

. Pediculus humanis capitis D. Sarcoptesis scaebii

1. A pregnant female with typical lesion of Scabies, what is the drug of choice? ll
..Crotamiton B. Sulfonamides

. Tetracycline D. White oxide of mercury

2. What is the parasite that can cause acne like lesion?

.Cimex lectularis B. Demodex folliculorum

. Pediculus humanis capitis D. Sarcoptesis scaebii

3. A fisherman complaining of diarrhea after eating feseekh, what is the stage that
»uld be found in his stool sample?

-Encysted metacercaria B. Lophocercous cercaria
. Mature egg D. Procercoid larva

b What is the diagnostic stage of chronic balantidiasis?

. Immature oocyst B. Mature cyst

. Mature egg D. Trophozoite

i. In glucose the orientation of the -H and -OH groups around the carbon atom 5
ljacent to the terminal primary alcohol carbon determines

.DorL series B. Dextro or levorotatory

a and B anomers D. Epimers
+ Which of the following is a reducing disacharide?

Sucrose B. Trehalose

Isomaltose D. Agar
- All are polymers of glucose except :

. Glycogen B. Inulin /

. Starch D. Cellulose “
. A monounsaturated fatty acids is:
Oleic acid B. Arachidonic acid

Palmitic acid D. Linolenic acid

- The degree of unsaturation of lipid can be measured by
Saponification number B. Iodine number

Polenske number D. Reichert Meissil Number
Free fatty acids are transported in the blood

Combined with albumin B. Combined with fatty acid binding protein

Combined with B ~lipoprotein D. In unbound free salts
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9. Which of the following types of oedema has a protein content more than 3 gm%?

A. Cardiac oedema B. Inflammatory oedema
C. Nutritional oedema D. Renal oedema

10. Which of the following tumours has the worst prognosis®

A. Stage 1 B. Stage 2

C. Stage 3 D. Stage 4

11. Which of the following can occur after tooth extraction?

A.Bacteraemia B. Pyaemia

C. Septicagmia D. Toxaemia

12. Which of the following types of cell injury occurs in old scars?

A. Hyaline change B. Hydropic change

C. Mucoid change D. Myxomatous change
13. Which one of the following mutations cannot be reversed?

A. Missense, Nonsense B. Nonsense, Silent

C. Insertions, Silent D. Deletions

14. What is the structure of viral genome®

A.DNA B.RNA

C.DNA & RNA D. DNA or RNA

15. Which one of the following represents phases during which bacteria prepare for
reproduction then increases exponentially with time?

A. Lag, Log B.Log, Lag

C. Exponential, Lag D. Lag, Stationary

16. What is the scientific name for single polar flagellum and multiple polar flagella,
respectively?

A. Aonotrichous, Lophotrichous B. Amphitrichous, Lophotrichous

C. Lophotrichous, Monotrichous D. Lophotrichous, Peritrichous

17. What is the scientific name for transfer of DNA from donor to recipient by |
bacteriophage?

A. Transduction B. Transformation

C. Electroporation D. Conjugation

18. Trimethoprim belongs to which group of the following?

A. Macrolides B. B-lactam

C. Aminoglycosides D. Folate antagonists L

19. What is the type of anaemia complicating Diphylobothrium latum infection?

A. Aplastic anaemia B. Haemolytic anaemia

C. Iron deficiency anaemia D. Megaloblastic anaemia
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Kafrelsheikh University/ Faculty of Medicine /5+2 Program
Final Semester (1) examination for level (1) students / Paper (1)

Date: 19-1-2019
/ Time allowed: 2 hours
Total marks: 80

swer the following questions (All questions to be answered):

“hoose the correct answer: (48 marks)
Which of the following types of atrophy occurs in the muscles of a child with
poliomyelitis?

Disuse B. Ischaemic

Neuropathic D. Starvation

Which of the following cells are present in large numbers in allergic inflammation?
Neutophils B. Lymphocytes

Eosinophils D. Plasma cells

Which of the following types of cell injury occurs in the respiratory tract of a patient
with common cold?

Fatty change B. Hydropic change
Hyaline change D. Mucoid change
Which of the following types of necrosis occurs in abscess?

Coagulative ~ B.Liquefaction
Fibrinoid D. Caseous

‘What is the commonest type of thrombi?

Arterial B. Capillary

Cardiac D. Venous

‘Which of the following cells heal only by connective tissue after injury?

Haemopoietic cells B. Liver cells

Lymphoid cells D. Skeletal muscle cells

‘Which of the following types of haemorrhage occurs during the first 48 hours after
surgical operations?

Reactionary B. Primary

Secondary D. Tertiary

Which of the following is a malignant tumour of mesenchymal origin?

Bilharzioma B. Carcinoma

Sarcoma D. Tuberculoma
1
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Enumerate characters of non-functional plasma enzymes.

Hlustrate diagrammatically steps of base excision repair.

End of the exam
With best wishes

9





image2.jpeg
A
. |
l
[1I.Demonstrate the following: (16 marks)
ith structure).

1. Epimers (definition and examples W

tritional classification of FATTY ACIDs with examples.

2. Nu

3. Amphoteric (Electrical) properties of amino acids.

4. Types of carrier proteins.
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-aw bacterial growth curve.

rite down the ways of DNA Transfer in Prokaryotes.

efine and briefly classify myiasis according to the habit of the fly with examples as

ossible.
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'II. Answer the following questions: (16 marks)

1. Enumerate general factors affecting the process of healing.

4. Enumerate morphologic features of candidiasis (moniliasis).
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0. What is the chemical name of Adenine?

\.6-Amino purine B. 2-Amino-6-oxypurine

°. 2-Oxy-4-aminopyrimidine D. 2, 4-Dioxypyrimidine
‘1. The analysis of the base composition of unlabelled nucleic acid sample; showed 10%

idenine, 40% cytosine, 30% thymine and 20% guanine. According to such results; the
ource of this nucleic acid is most likely to be:

\.Bacterial chromosome B. Bacterial plasmid

*. Nuclear chromosome D. Viral genome

2. This icon ® O@ in Pedigree means:

. Affected B. Carrier

*. Dead D. Still birth

3. DNA fragments are sealed by

.DNA polymerase II B. DNA ligase

. DNA gyrase D. DNA topoisomerase I

4. Exposure of DNA to ultraviolet radiation can lead to the formation of
.Adenine dimers B. Guanine dimers
. Thymine dimers D. Uracil dimers

5. The initiation site for transcription is recognized by
+0—Subunit of DNA-dependent RNA polymerase

-B—Subunit of DNA-dependent RNA polymerase
.Sigma factor

.Rho factor

). Haemoglobin S is an example of a/an

.Silent mutation

\Acceptable mis-sense mutation

Unacceptable mis-sense mutation

Partially acceptable mis-sense mutation

- The codon which serves as translation start signal is
AUG B.UAG

UGA D.UAA
. Lac operon is a cluster of

. Three structural genes
- Three structural genes and their promoter
A regulatory gene, an operator and a promoter

- A regulatory gene, an operator, a promoter and three structural genes
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